Whitman College
Econ 407
Final Exam
December 19, 1996


Write all answers in your blue book. Show all of your work.





1. (20pts) Using the pure expectations theory of the term structure of interest rates, forecast the annual yield to maturity of a five year Treasury note offered for sale December 17, 2001.

2. (30pts) Suppose you are an economic adviser to a Federal Reserve District Bank President who sits on the Federal Open Market Committee (FOMC). Your boss tells you that he is planning to propose at the next FOMC meeting that the Fed target an annual money supply growth rate of 4% and simultaneously maintain a short-term annual interest rate target of 4% for the following year. Your boss asks you for an economic analysis of his plan. Refer to graphs where appropriate.



3. Suppose that the assumptions of the classical quantity theory of money hold.
(a) (5pts) List these assumptions.

Suppose that production functions are such that when resources are fully employed, real GDP is Y=500. The current price level is P=1.0, and the money supply is M=100.

(b) (5pts) What is the velocity of circulation in this economy?
(c) (15pts) If the money supply rises to 110, what happens to the price level, to velocity, and to real GDP? Explain.



4. (a) (5pts) Define the natural rate hypothesis.

(b) Consider the following models, both of which assume that the natural rate hypothesis holds. For each of the models, do the following. Draw an aggregate supply and aggregate demand diagram in which output occurs at the natural rate. Explain what accounts for the shape of the short-run aggregate supply curve in this model. Assume now that aggregate demand falls, so that the economy is in a recession. Describe and explain the appropriate policy reaction in the model to the fall in aggregate demand.

(i) (20pts) New Keynesian fixed nominal wage contracts model.
(ii) (20pts) Monetarist worker fooling model.




5. (30pts) With reference to the results from the class Lucas island experiment, describe the conditions under which monetary policy is effective at changing output in the Lucas island model.




6. (30pts) Suppose that you are the economic adviser to a government policy-maker who has access to recent Phillips curve data for the US, and to OkunÕs law. Your boss interprets the Phillips curve to say that a 1% reduction in the annual inflation rate will cause an extra 2.5% unemployment. From OkunÕs law, your boss concludes that the extra 2.5% unemployment will result in real GDP being 5% less than it otherwise would have been. Your boss does not feel that reducing inflation from the current 3% per year to 2% merits losing 5% of real GDP. However, he has heard that an economist named Sargent has studied historical episodes in which countries managed to reduce their inflation rates drastically without suffering large losses in output. So, he wants you to explain what happened in these countries Sargent studied, and whether those results might imply that we wouldn't have to lose 5% of our GDP if we lowered our annual inflation rate from 3% to 2%. (He has also heard that Sargent explained these results with reference to something called the Lucas critique, and wants you to explain Sargent's reasoning to him.)




7. (a) (10pts) If the US economy were to grow at a 1% annual rate in real terms over the coming year, what would be the appropriate policy reaction according to the real business cycle (RBC) school of thought? If the US economy were to grow at a 5% annual rate in real terms over the coming year, what would be the appropriate policy reaction according to the RBC school of thought? Explain.

(b) (10pts) What role does money play in a RBC model?

